SaiiiTeR 82-83-84 27
PNEUMATIC ACTUATORS SERIES 82-83-84




GROUP



ValBia

RESENREAEEERHIE RS
RERFHREN  DHIENZEEEH
Zreis R S RENHT R
BAWERXEFN—ERN, S8HHEITE

FHRMBPFRBEEFREHERIRS .
BIERESTF 7!

Only excellence allows to compete in the
international market. The challenge can be
faced thanks to the passion and the energy
of the researchers, who plan and
manufacture avant-garde quality and
technology, a team which is perfectly

integrated for providing total customer

satisfaction; we are ready!




iiE$ - APPROVALS
ISO 9001 - ISO 14001 - ISO 50001 - OHSAS 18001

Certificate Certificato

e U W ————
i o e st poched o i 1305t o o e n st s ot s
S e

= " vaLsia vae@
= YalbigiS Valbia S.r.. Certificate

Via Indust i i
13505 et <ot s g n s e che s e
e nomatve ndict 25065 anelzane (B }';u','édi'.ff.'.lelﬁg ®)

aly talia

vawlsia St oy valsia

¢ Entire site
Valbia S.r.l. Sito di Via Industriale, 30 Valbia S.r.l
Via Industriale, 30 Field of activty 25065 Lumezzane (BS)! It el
25065 Lumezzane (BS)
Italia

QS herewith cerifles thtth company e below hs a mansgernet sysem which meets the
equiementsof he standard specied blow:

Via Industriale,
Design and production of pneumatic and electric - 25065 lnmeuane ®9)
actuators and of fluid interception devices Ambito dattivita Italy

Progettazione e fabbricazione di attuatori
Standards preumatici ed eletrici e di dispositivi di >
Tutto il sito ) intercettazione fluidi Sertifed lea

150 9001:2008  Quality Management System Site of Via Industriale, 30

Ambito dattivits 1SO 14001:2004 ~ Environmental Management System i G 25065 Lumezzane (BS)/Italy
Progetazione e fabbricazione di attuatori pneuma  OHSAS Occupational Health and
ed elettrici e di dispositivi di intercettazione fluidi  18001:2007 Safety Management System

Setore certificato

150 50001:2011 _Sistema di gestione energetica iy

Design and production of pneumatic and electric

Basi normative R i
S socaton for Qusly 2t ot actuators and of luid interception devices

Thnscs
150 9001:2008  Sistema di gestione per la qualita o S ok =
1SO 14001:2004  Sistema di gestione ambientale e e sceworom

RSN ‘Standard

OHSAS Sistema di gestione della salute e v . e
18001:2007 sicurezza sul lavoro Celeliwcnnn ( J o) 1S0 50001:2011  Energy Management System

X Gdebmarn, R & 8 "
e o) pemaires
Assockazione Swizzera per Sistemi et =
prycoriatrli o o o - oGt TasosCcsaidoe
0 emisione: 7agosto 2015 umero i reg

Nagemen ysoms S35 and incldng Noverie 2, 2019
Bemstase 103 CH3052 7ol Scopemuier 1, 10
e N 2o e kot 161

iz $pa

- =PErRE,
= | L’];&T SARERI JRITHE
(e TjBJ_ HIBRSS -

S oo s
conmcAro b AsscuRAONE B e ornsue /E

AP, nerhy e o hve n fore he e o ecried sl o
Insurer inconneeion withth coverage. s hereinafer specifed provided by said
Lasotoseria ALLIANZ SPA crific i aver emess a olizza Assiuraiva soto iportats: bt e cometon i g o e sprled roiel b ol

"POLICY DESCRIPTION

[ e product range of

LUMEZIARE BS ALY ViA INDUSTRILE 30 25065 LUMEZZANE BS ITALY

25065
DESCRIZIONE DEL RISCHIO: Rsponsabil Cvile vers Tz - podot sl Prodics Ly o ik of BLRO 0000000 t H I H f

re =
'MASSIMALE ASSICURATO: R.C:T. Euro 5.000.000,00 pe inistr ed amno assiurstivo - I o n a I n s u ra n ce o r

Efectvedate
Expiaton doe - moup: i

p el i customer safety.

rttaing aryreguement. er o condion of ayconract o e wih st
L e ey s ety e ol

P SR e e hnical and commercial

This crtficat s s s materof informationonly and confers n rghts upon hecerfcate

POLIZZANR. 72671021

Questoeeificato & lscstoeslusivamentea tolo informative,

el B b e L e rvice is at your disposal.

qwuimvzsey
e — AceNzu BIGIRDON Vat TowA
AGENZIA | GﬂFDDNE VAL TROMPIA-

f s gt

CANCELLATION: Sid e aboe desrbd ol be cancled booe e cpiatan dte
herecf e suing insured il endeavor [0 mil 0 dys writien notice 1o te certicat holder but
et cassio o PR ot i e, Bt a7
represenves.

Dai, 13012017 MV

UCT APPROVALS

ATEX SahiniTes
ATEX pneumatic actuator

=
An

SIL SanhiTas

SIL pneumatic actuator

DICHIARAZIONE ~

AVVISO DI RICEVIMENTO.

® e
- She
ST
TOV IT 13 ATEX 010 AR Rev.01
T

‘with IEC EN 61508:2010
Cortficate No.: G5 233843 -01
CERTIFICATE OWNER:  VALBIA SRL.
Vi A Ganossl 30P.080x 4
25080 Broz0 (85) - ALY
WE HEREWITH CONFIRM THAT
THE PNEUMATIC ROTARY ACTUATORS
DOUBLE ACTING & SPRING RETURN
(DA AND SR TYPE, SERIES 82 AND 84)
MEET THE SIL REQUIREMENTS DETAILED IN THE ANNEXED TABLES
FOR THE SAFETY FUNCTION:

Ao pcmatc s 26,84

CADO & CERTI

P T———
frrrey

6 Ao

# CEPTUOUKAT # CERTIFICADO & CERTIFICAT

* CEPTUOMKAT & CERTI

ZERTIFIKAT & CERTIFICATE &

O G TV S0 VG 5Pl 2 5SS e Ol - i TOV®

ZERTIFIKAT & CERTIFICATE &

OV b G TOY S0 Vi G 25 P2+ 0 et o Gl o womivt TOV®.




BONOMI GROUP

CENED Certificazione ENergetica degli EDifici
Azienda certificata classe “A” - “A+”
con certificato n.17081 - 000459/12 e 000460/12

AEOF
Authorized Economic Operator (AEOF)

PED
( €0036

TUV Suddeutschland Bau und Betrieb GmbH
Pressure Equipment Directive 97/23/EC

TUV Stddeutschland Bau und Betrieb GmbH
Equipment for use in potentially
explosive atmospheres 94/9/EC

ATEX
(€ &

BSI British Standars institute
Construction Products Directive
Regulation (EU) n. 305/2011

CPR
( € 0086

TUV Siiddeutschland Bau und Betrieb GmbH
Safety Integrity Level

SIL

2i Rete
as
e

/a\

DVGW

product

Mriiitnr il alorrer

RINA Registro ltaliano Navale

g2z

%
" Reti Gas

21 ete . ITALGAS
Gas @

Deutscher Verein des Gas- und Wasserfaches
DVGW W 534 - W 531 - VP 614
DVGW GW 335-B4 - DVGW G 5600-I

TUV Siiddeutschland Bau und Betrieb GmbH
TA. LUFT

TUV Bayern Hessen Sachsen Stidwest E.V.
FIRE SAFE BS 6755 Part.2, API Specification
6FA und ISO 10497

DBI GTI Gastechnologishes Institut
UNI TS 11343

Germanischer Lloyd Maritime

Schweizerischer Verein des Gas- und Wasserfaches
Européische Vorschrift EN 331: 1998

il

|} 4 o
RAS .«
NG

Apros

RS

7828

CARSO

o
m—
e
—
K

Factory Mutual Research

Underwriters Laboratories Inc.

Underwriters Laboratories Inc.
ANSI/NSF 61 -372 Drinking Water System Components
and Lead Contenent Verification

American Petroleum Institute
AP| 6A

License number 6A-1741

American Petroleum Institute
API 6D
License number 6D-1428

Technical Standards and Safety Authority

CSA International

Water Regulation Advisory Scheme
(By WRC Evalutation & Testing Centre)

Lloyd’s Register Marine

Bureau Veritas Industry Division

Bureau Veritas Marine Division

Laboratoire Santé Environnement Hygiene de Lyon
ACS: Attestation de Conformité Sanitarie

Certification body 3 - Zds “Tisk”

Declaration of conformity TP-TC 010/2011
Declaration of conformity TP-TC 032/2013

Det Norske Veritas Maritime

1L

J ===y gcpcy 4 B NN

o |




SEITER
PNEUMATIC ACTUATORS

e

Valbia SatthiTee R AR SR 4510, W/ B rl s, feke mES0-90° #10-180° | XMHTes T ERF TUlIieat] BapFXEHESE
%, Valbiar=mAER, AR SR T mEHBE MRS FISRE, SRR RIRES . REREM RS,

{#15Valbiaff{TeRRE BB AT A ERIN AWRIAR RS, FEENE THAXAE, L EER TUAEER ( NEmIEERST ) | XM
MERTZmERS, VALBIA BEBRIENRIEREKREERESHIBRTE . FHEHSHMIE, .

EBRAE, PROFTR, Efuss, NeFieE FeATFTIruIT.

Valbia EZ2EFLA T =FSant Ty
- 82%71, 58, hEEEAE0° -90° ;

- 83%71, 18, IEEEAE0° -180° ;
 84ZI, NEW, hekeAE 0-90°

BT LA BRI, A T i BRI S R0 K, Valbialk Al iR ERIARSS

== GENERAL SPECIFICATIONS

BV (N={[D]

6

Valbia manufactures rack and pinion pneumatic actuators, available in spring return or double acting version, with 0°-90° standard rotation or
0°-180°. This type of actuator is mainly used in industrial processes, to automate interception and adjustment devices.

Using carefully selected materials, Valbia offers a product with a unique patented design, which is able to guarantee high quality standard,
performance and strong reliability throughout its useful life.

The possibility to use various types of construction materials and combinations, makes Valbia actuators versatile and suitable to different
applications and operating

environments; the certifications, achieved by the products, allow the usage in all the major industrial sectors (from food & beverage to the O&G
market), both in European and International contest.

Valbia is able to propose the most suitable solution according to the different requirements of use and to provide also a wide range of accessories
such as solenoid valves, limit switches, positioners, emergency gear operators and levers for manual intervention.

Three series of pneumatic actuators are realized:
+ the Series 82, aluminum with 0°-90° rotation;

« the Series 83, aluminum with 0°-180° rotation;

+ the Series 84, stainless steel with 0°-90° rotation.

In addition to the standard versions, Valbia offers a wide range of special versions designed to provide specific solutions for any need.




SEITER
PNEUMATIC ACTUATORS

82F5ISEh1T788 — SERIES 82 PNEUMATIC ACTUATORS

82F%, [EERELN, RIEFEHEER, B16MESAHAE, REMAE0° -90° , SfFA(SR) FIUEMR (DA) mik.

The series 82, with an extruded aluminum body, is manufactured in 15 models to guarantee a wide range of choice according to the
requested torque; it allows a 0°-90° rotation and it is available in the spring return (SR) or double acting (DA) versions.

83X%5IS5I1T28 — SERIES 83 PNEUMATIC ACTUATORS

83F%Y, EHIEILA, RIBAEHEEEX, BOMAMEEILAULE, RAXERA (DA) mlit, BIRDnZIETMNNCSUE, ek
0-180°

Available only in the double acting version, the series 83 is manufactured in 9 models according to the different torque output
required. These actuators can provide a 0°-180° rotation with the possibility to regulate the run of the actuator by using the cam
adjustment but also with the screws mounted on the end caps.

84Z%ISEIH1TES — SERIES 84 PNEUMATIC ACTUATORS

BARINSB2RIIBRT MRAELAI, EMFIRAHER—HFRY. SBARIAERIIAER RS, WHFERBIERAENIE,
HAESMAIEHIE.

The series 84 presents the same compact design and the same technical features of the series 82, with the exception of construction
material; the series 84 of Valbia is, in fact, manufactured using body, and caps and pinion in stainless steel and it is available in 5 models.

vaLsia




SEITER
PNEUMATIC ACTUATORS

N'
AN

'

NV
VAN

FEESSETIA HUNI 6060HHE: ]
- AREAPRENREE, tREmEERERIA 45-50 (micron).

- REENINTEERS, MEY, SR, .

- WIINIEFR T, TRATRARIREP. T.F E fh/EatE

- NERENINITEERS,

-RER, 55w,

BODY MANUFACTURED FROM EXTRUDED ALUMINIUM UNI 6060:

— Hard-coat anodized as standard finish 45-50 (micron).

— Good wear resistance.

— High corrosion resistance.

— Special finishes nickel-plating or P.T.F.E coated for corrosive environments
upon request.

— Bore finished to high standard to ensure low friction and long life.

SHESLAL:

- InEMEI BB ANIE ,
- BRETSEE. - |
- EETEESEITIHE.

- K&, TR,

- 1EEMNDA/SREY, ERMARTEE.

CONCENTRING SPRING SETS

— Standard coating painted.

— High resistance and reliability.

— Spring sets to suit different air pressure/torque requirements.

— Long securing screws to allow safe dismantling for maintenance.

— Same body dimensions for DA/SR versions.

[EHina:

- R ERARENRRE.

- ANENRANTE, TRAIRAEIRSL P.T.F.E pifRatsE
DIE CAST ALUMINIUM END CAPS:

— Standard polyester powder coated

— Special finishes nickel-plating or P.T.F.E coated for corrosive environments
upon request.

T

- TREM .
ASSEMBLING SCREWS:
— Stainless steel as standard.

FACIESES

- TEREE: 75 NAMURIRAE

- BRI EERE: FFANAMURIRE.

- [REBtmE: 1ISO 5211-DIN 3337.

EXTERNAL CONNECTION:

— Top of pinion according to Namur norm.

— Solenoid valve connection according to Namur norm.
— Bottom of pinion according to ISO 5211-DIN 3337.

HASH:
- AL{EES: 8 bar.
- TIRRE:
InE(-20° C; +85° C), &i& (-20° C; +150° C), fii& (-40° C; +85° C).
-BEE, 85w,
-100% Mt
NOMINAL VALUES:
— Pressure rating max 8 bar.
— Working temperature:
standard (-20°C; +85°C), high (-20°C; +150°C), low (-40°C; +85°C).
— Lubrification guaranteed for the entire actuator lifetime.
— 100% fully tested on manufacture.

—

=i

ValbiaSahTes BB NERIE RIS, BT IEe SR

EDRERNMRTZAEARE, FEOETIET BT ZEIE

=g

SR T PUTERREMIRAIRT RSN, BT MERERYY, (%5

A,

Pt hUigit
ANTI-BLOWOUT SYSTEM

B Pt T4 TR B 22
Piston provided with
anti-blowout flat key.

- BV (N={[]

8




SEITER
PNEUMATIC ACTUATORS

-l s
- IEmAEREER, LR,
- ORISR AR E IR
- et .
SE= PINION MADE IN STEEL:
— Nickel-plated against internal and external corrosion for standard version.
— Stainless steel for corrosive environments upon request.
— Anti-blowout design.

-l CECRIEARYAZE. 0°-90°
- M.
- ANEETFAIXARE + 5°.
== CAM FOR LIMIT POSITION ADJUSTMENT 0°-90°
- Stainless steel.
- Adjustment for open and close position + 5°.

gl 0° -90 iEEiZe
- FEN0-90°

Zz ADJUSTMENT SCREWS
- Stainless steel.

- POM# RiEZES M@
- BERRERRC. .
-BiE8, MEE, .
- K&,
= PISTON GUIDES IN POM:
— Large contact area.
— Low friction for self lubricating material.
— Long life.

-l ESRRIRE:
- RIEESRATH TR IR,

Zh= PISTONS MADE FROM DIE CAST ALUMINIUM:
— Chemical nickel-plating upon request.

NY

Sl =i
— A . B
PATENTED - 712]_'\/ :P:xTJLMﬁ NBR (TH%*%HX) )
- BIREEMER: Viton (&5 ) .
The pneumatic actuator has a patented solution for the cam and the - [LEZHHME: silicon. (FEER )
double adjustment stop bolts chamber. Such area is separated from NIl .
the pist hamb d it is not subject t taini S1s SEALS:
e pistons chamber, and it is not subject to pressure containing, _ Standard version: NBR.

contrary to our competitors’ products. This solution reduces the
eventual leaking points and it enables better performances and
long-term reliability of our actuators.

— High temperature version: Viton.
— Low temperature version: silicone.

PSS E S Rs
- HEELIEE.

rRARE - RS
MOUNTING VARIATIONS - ShiE.

- ATRMAREIRIT, RIKE .
=Zh= TWIN RACK AND PINION DESIGN:

— Constant torque output.

— Compact design.

— Balanced internal forces.

— Robust design to ensure long life.

% - Closed

IIRRETAYRESE AR - Clockwise Rotation

HRE

View from the top of the pinion

Bonoml
GROUP




82&RFInTEREMSF
ACTUATOR PARTS SERIES 82

328 MOD. 32

Fs. BB FR Rt FEIE i
ITEM DESCRIPTION MATERIAL TREATMENT
1 FI4K - Body [E5548- Extruded aluminium FEtRE M- Hard anodized 1
2 PRl 5%~ Anti-blowout pinion N - Steel §E48 - Nickel plated 1
-3 OB O-ring NBR 1
c 4 OB - O-ring NBR 1
-5 PBESIA- Spacer ring POM 1
6 ¥4 - Snap ring ¥ - Steel #%8 - Nickel plated 1
7 &2 - Piston [E#5$8- Die cast aluminium 2
-8 OB~ O-ring NBR 2
9 BEEZZ1- Stop bolt TEEHW- Stainless steel 2
=10 OFFE- O-ring NBR 2
1 8- Washer 5N~ Stainless steel 2
12 EIFZIZIRIZE - Stop bolt retaining nut TN~ Stainless steel 2
13 Fimss- Left end cap [E$548- Die cast aluminium % - Painted 1
14 Ak - Right end cap [E#548- Die cast aluminium 54 - Painted 1
15 IR EIEE- End cap seats NBR 2
16 EEM2ET- End cap fixing screw TN - Stainless steel 8

17 &g e8- Position indicator

PIBMEGIR TPE
Thermoplastic rubber TPE

N

* SIRERE - Parts subject to wear




82Z5i

TEREbiF

ACTUATOR PARTS SERIES 82

ME289F2308Y
MOD. FROM 62 TO 230

230
Only for mod. 230

140 -230

Only for mod. 140-230

Fs. EMEZFR st FmEhIE HE | HE
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 IR - Body [E#48- Extruded aluminium FEtkE M~ Hard anodized 1 1
2 FpiR £ - Anti-blowout pinion i - Steel 818 - Nickel plated 1 1

-3 O-f# - O-ring NBR 1 1
c 4 fBE - Spacer ring POM 1 1
« b5 O-f2B - O-ring NBR 1 1
- 6 O-F2B8 - O-ring NBR 1 1
7 % - Cam TR - Stainless steel 1 1
8 PR~ Spacer POM 1 1
-9 fBESA-Spacer POM 1 1
10 |88 - Washer 5N - Stainless steel 1 1
* 11 ¥4 - Snap ring ¥ - Steel #%8 - Nickel plated 1 1
12 |/EZE - Piston [E5548 - Die cast aluminium 2 2
<13 O-fB - O-ring NBR 2 2
« 14 B - Antifriction ring POM 2 2
< 15 [FEE#ESBR- Thrust block POM 2 4] 2 4]
16 |AEEEMEMIZE - Stop bolt retaining nut TEEW - Stainless steel 2 2
17  |REEEZRE- Stop bolt TN - Stainless steel 2 2
18 |9MNEBR#EE - External spring i - Steel % - Painted 0 s
19  |rhjas#s - Central spring i - Steel 2% - Painted 0 See spring
20 |PIEBEE - Internal spring i - Steel % - Painted 0 ﬁgggggt
21 |AimE - Leftend cap [E#458 - Die cast aluminium %4 - Painted 1 1
22  |Ail%= - Rightend cap [E#458 - Die cast aluminium I5% - Painted 1 1
23 |ig=BEEE - End cap seats NBR 2 2
24 O-fB - O-ring NBR 2 2
25 E[ER#H - End cap fixing screw T - Stainless steel 8 8
26 |fuEiEmsE - Position indicator #WBHE - TPE Thermoplastic rubber TPE 1 1

* SIREBE - Parts subject to wear

*+ E3EA9RSI DIN 471 - UNI 7436 - Reinforced series DIN 471 - UNI 7436

[4] RBR. 140-160-180-200-230 - Valid for mod. 140-160-180-200-230 only.
= 2R, 160-180- 200 - Only for mod. 160-180-200.

YalBia




82 5UAT=RER
ACTUATOR PARTS SERIES 82

270 330
MOD. 270 - 330 @\
s, EBHFETR 7t FREIE H= | H=
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 IR - Body [E$%48 - Extruded aluminium FEtRE - Hard anodized 1 1
2 |FERRHES - Anti-blowout pinion N - Steel 218 - Nickel plated 1 1
+ 3 O-#& - O-ring NBR 1 1
- 4 O-#& - O-ring NBR 1 1
-5 EELR - Antifriction ring P.T.F.E15%A%- P.T.F.E 15% graphite 1 1
* 6 BT - Antifriction ring PTFE 1 1
7 £EiR - Plate mod.270 GGG40 - mod.330 C45 % - Painted 1 1
8 - Washer T - Stainless steel 4 4
9 fAEEEIZRIZR- Stop bolt retaining nut TN - Stainless steel 2 2
10  |BEEEIZRE - Stop crew W - Steel %%~ Zinc plated 2 2
11 |ElE#4e- Fixing screws G5 - Stainless steel 4 4
12 /&%~ Piston [E8548 - Die cast aluminium 2
BETREA
13 |E4E38%E - Precompressed spring i - Steel % - Painted 0 See spring
etting at page 22
14 |mEEERR - End cap fixing screw FE55M - Stainless steel 222 Zg 12 zzz Zg 12
15 |i%s - Endcap [E#%8 - Die cast aluminium M54 - Painted 2 2
<16 [FEEHENBR - Thrust block POM EZE:ZS : EZZ:ZS :
17 |FBEEE - Spacer ring POM 1 1
18 |5%#E - Pinion washer TEE5M - Stainless steel 1 1
19 | ¥ - Snapring M - Steel I3 - Nickel plated 1 1
- 20 |0~ - O-ring NBR 2 2
- 21 FREETR — Antifriction ring P.T.F.E15%AZE- P.T.F.E15% graphite 2 2
22 |O-J& - O-ring NBR 2 2
23 O—% _ O—ring NBR mod. 270 4 | mod. 270 4
mod. 330 2 | mod. 330 2
24 |BBRHEARE - Anti blowout key POM 2 2
25 I EE71~E8 - Position indicator #IBYE - TPE Thermoplastic rubber TPE 1 1

« SIREPIE - Parts subject to wear

12_ VallBla




833

TERabiF

ACTUATOR PARTS SERIES 83

M528! F1608
MOD. FROM 52 TO 160

140

-160

Only for mod. 140 +160

Fs. BBEEZFR Rt FmEkE e
ITEM DESCRIPTION MATERIAL TREATMENT P
1 £14& - Body [E5545- Extruded aluminium FEtkEM~ Hard anodized 1
2 AR 5% - Anti-blowout pinion iN - Steel §E48 - Nickel plated 1
- 3 O-JZB - O-ring NBR 1
- 4 FBEHIR - Spacer ring POM ]

- 5 O-#2El - O-ring NBR 1
6 L - Cam FE$M- Stainless steel 1
7 #ER - Spacer POM 1
- 8 O-fB - O-ring NBR 1
-9 FREIR - Spacer POM 1
10 |8 - Washer TN - Stainless steel 1
* 11 |+=% - Snapring i¥ - Steel #%18 - Nickel plated 1
12 [fuEfs/=ss - Position indicator B TPE - Thermoplastic rubber TPE 1
13 |/AZ - Piston [E#54$8 - Die cast aluminium 2
* 14 O-fB - O-ring NBR 2
+ 15 |BBEELR - Antifriction ring POM 2
- 16 TEEEHEHR - Thrust block POM 2 4]
17 #8 - Washer 51N - Stainless steel 2[0]
18 |AEIERMZMIZE - Stop bolt retaining nut TEHR- Stainless steel 1
19  |BEFEZE - Stop bolt TESN - Stainless steel 1
20  |Z&isE - Leftend cap [E#458 - Die cast aluminium 5% - Painted 1
21 |Ai%E - Right end cap [E#458 - Die cast aluminium 5 - Painted 1
22 |O-fE - O-ring NBR 2
23 |ig=BEEE - End cap seats NBR 2
24 |ig=EIEEE - End cap fixing screw TR - Stainless steel 8

- 25 |O-FE - O-ring NBR 2
26 B - Washer BN - Stainless steel 2
27 BEIFRIZIRIZR - Stop bolt retaining nut | RN - Stainless steel 2
28 | BEIFAEZIIZE - Stop bolt TR - Stainless steel 2

* SRS - Parts subject to wear
[0] [4] SRBR.140-160 - Valid for mod.140-160

o EIBAYZERZI DINA71-UNI7436 - Reinforced series DIN471-UNI7436

YalBia




BARFI TR
ACTUATOR PARTS SERIES 84

M 52 BIZ) 1003
MOD. FROM 52 TO 100

Fs. BBHATR Mt FHERLE H= He'
ITEM DESCRIPTION MATERIAL TREATMENT DA SR
1 #1{K - Body T4 - Stainless steel 1 1
2 FpRR 5% - Anti-blowout pinion W - Stainless steel 1 1
3 |O-FE - O-ring NBR 1 1
- 4 |IRB - Spacerring POM 1 1
-5  |O-#E - O-ring NBR 1 1
6 |O-FE - O-ring NBR 1 1
7 M - Cam 5N - Stainless steel 1 1
8 |k - Spacer POM 1 1
9  |B@E - Spacer POM 1 1
10 | 2@ - Washer BN - Stainless steel 1 1
11 | - Snapring REEW - Stainless steel 1 1
12 |JEE - Piston [E8558 - Die cast aluminium PAR &4 - Hard anodized 2 2
- 13 |O-#E - O-ring NBR 2 2
* 14 | HUEIR - Antifriction ring POM 2 2
* 15 |JEEMESBR - Thrust block POM 2 2
16 | BEEZIZRIZE - Stop bolt retaining nut T - Stainless steel 2 2
17 | AEEZIZH - Stop bolt TRER4M - Stainless steel 2 2
18  |4hEBEE - External spring i - steel *F’,Jgkw’fgj ng%gg%ﬂgge)nzm 9 0 S,
See spring
Mgk (bonderizing) - setting at page 22
19 | EREE - Internal spring i - steel Powder coating (bonderizing) 0
20 |AisE - Leftend cap RE5W - Stainless steel 1 1
21 | A% - Right end cap TE5HN -~ Stainless steel 1 1
22 |inE=EZEEE - End cap seats NBR 2 2
23 | inEEEE - End cap seats NBR 2 2
24 |in=EEEE - End cap fixing screw TN - Stainless steel 8 8
25 | fuEiERe8- Position indicator ﬁ%ﬁo{;ﬁnc Ubber TPE 1 1

* SRS - Parts subject to wear

14

IV (N={[D]




82%%| RY &/ MOD. 32
DIMENSIONS MOD. 32 SERIES 82

O O
L
®
P
o i @
A
/N IRRSETESE A SRR
(\\ J CCW rotation ‘@ / CW rotation
E{FES G
MOD.| DRILLING CH A B C D E OF | somm H L M N 0] P Q oR
1SO 5211
32 FO3 9 110 45 45 20 65 11,8 1/8” 10 50 25 12 M5x7,5| 36 34,5 22

YValBia




82%%5] R M.528 3 2308

DIMENSIONS FROM MOD. 52 TO 230 SERIES 82

A

n° 4 7, M5

To lift the actuator (mod.140-230), without valve use the eye
bolts M12.

M12

140 230

n° 4-8 7|, M5

n° 4-8 holes M5
=
* IRIEESK IR MF042%E3, /7O RTETRELE A /N IRESE R A
* FO4 upon request }‘\\é /“ CCW rotation 1\E » / CW rotation
EilES T
MOD. IIDSRCIJLIE.‘IZI\‘I? CHlA|B|C|D E F| G |H|@lGK| L M|N | O P Q R S SO 71 U | eV
52 FO3-FO5 “| 11 | 141 | 71 | 30 | 41 | 81,5 | 20 | 101,5|10 |21 | 12| 80 | 30 | 12 |26,5/ 50 | 36 | M5X7,5 | M6X9 | 1/8” |34,5| 22
63 FO5-F07* | 14 | 164 |80,5|35,5| 45 93 20 | 113 |11 | 25|15 | 80 | 30 | 16 |27,5/ 70 | 50 | M6X8 | M8X12 | 1/8” |34,5| 22
75 F05 - FO7 17 |1 210 |945| 42 |525 | 111,1 | 20 | 131 |13 |29 |19 | 80 | 30 | 19 | 35|70 | 50 | M6X8 | M8X12 | 1/8" | 42 | 29
85 F05 - FO7 17 |240,5| 106 |47,5|585| 125 | 20 | 145 |15 |35 |22 | 80 | 30 | 19 |42 |70 | 50 | M6X8 | M8X12 | 1/8" | 42 | 29
100 | FO7-F10 17 | 275|123 | 55 | 68 | 137,8| 20 | 157,8| 15|35 |22 | 80 | 30 [20,5| 50 [102]| 70 | M8X8 |M10X14 | 1/4” | 42 | 29
115 | FO7-F10 | 22 | 333|137 | 64 | 73 | 162,4| 30 | 192,4 | 22 | 49 | 32 |80/130| 30 | 24 | 50 |102| 70 | M8X12 | M10X15| 1/4" | 64 | 44
125 | FO7-F10 | 22 [ 372|148 | 68 | 80 | 174,4| 30 | 204,4 | 22 | 49 | 32 |80/130| 30 | 24 | 61 |102| 70 | M8X12 | M10X15| 1/4” | 64 | 44
140 | F10-F12 | 27 | 435|164 |76,5|87,5| 197 | 30 | 227 | 24 | 49 | 35 |80/130| 30 | 29 | 71 |125| 102 | M10X15 | M12X18 | 1/4” | 64 | 44
160 | F10-F12 | 27 | 500 | 186 | 87 | 99 | 221 | 30 | 251 | 30 | 57 | 40 |80/130| 30 | 32 | 80 [125| 102 | M10X14 | M12X17 | 1/4” | 80,5| 60
180 | F10-F14 | 36 | 493 | 213 | 98 | 115 | 253 | 30 | 283 | 36 | 62 | 45 |80/130| 30 | 43 | 99 |140| 102 | M10X15 | M16X25 | 1/4” |80,5| 60
200 F14 36 578,5/217 | 108 | 109 | 278 | 30 | 308 | 36 | 67 | 50 |80/130| 30 | 37 | 78 |140| / / M16X24 | 1/4” 180,5| 60
230 F16 "46 | 690 [248,5/ 124 [124,5| 325 | 30 | 355 | 36 | 67 | 50 |80/130| 30 | 50 | 92 |165| / / M20X29 | 1/4” | 80,8 | 60

Q5 45° HaEE: - Only square connection at 45°

IV (N={[D]

16

Bonomn
GROUP



82%5%5] R M.270% 5 3308
DIMENSIONS MOD. 270-330 SERIES 82

270
M16
MOD.270 To lift the actuator without valve use the eye bolts
67, M5 M14 (mod.270) and M16 (mod.330)
n° 6 holes M5
@
o
I_
LL..
w O]
N_
B
MOD.330
n° 4 7, M6
n° 4 holes M6
|_
22,5 n° 4/8 holes M5
N TR /N ISR
<IA) CCW rotation \? > ) CW rotation
2 T
MOD.| DRLLNG |CH| A | B |C|D E|F|G|H Q@K L 2/M N P Q| R S |eoml U |V IW|Z]|X|OY
1SO 5211
270 F16 46,,1672|290|145|145|399| 30 |429|36 |70 |50 |130| 80 | 30 | 50 | / |165| M20X30 / 1/4” | 111 | 79 |230| 68 (80,5 60
330 F16-F25 55, 881|402|201|201|505| 50 |555| 36 (109| 50 |130| / | 30 | 62 |254|165| M20X30 | M16X26 | 1/2” | 129 | 135|297 | 95 |80,5| 60

QB 45° BRiERE

- Only square connection at 45°

YValBia




83RFIRIMEMITRRT
DOUBLE ACTING ACTUATOR DIMENSIONS SERIES 83

140 230

M12

To lift the actuator (mod.140-230), without valve use the eye
bolts M12.

n°® 4-8 ¥, M5
n° 4-8 holes M5

(p) R (g IResiEss
~2/ CCW rotation “—/  CW rotation
&
MOD., DRLLNG |CH| A |B|C|D| E | F | G |[H@|@K L M N|O|P| Q| R S | T|U]|av
1SO 5211 IS0 74

52 F03-F05 1 (197 |71 |30 | 41 | 815 | 20 | 1015|1021 |12 | 80 | 30 | 12 |265| 50 | 36 | M5X7,5 | M6X9 | 1/8" | 17 | 22
63 FO5-F07 | 14 | 233 |80.5/35.5/ 45 | 93 20 113 |11 25| 15| 80 | 30 | 16 |27.5| 70 | 50 M6X8 | M8X12 | 1/8” | 17 | 22
75 FO5-F07 | 17 | 298 |94.5| 42 |52.5| 111 20 131 (13129 |19 | 80 | 30 | 19 | 35 | 70 | 50 M6X8 | M8X12 | 1/8” | 21 | 29
85 | FO5-FO7 | 17 | 341 |106|47.5/585 125 | 20 | 145 |15|35 22| 80 | 30 | 19 | 42 | 70 | 50 | M6X8 | MsXi2 | 1/8" | 21 | 29
100 | FO7-F10 | 17 | 388 |123 |55 | 68 | 1378 20 |157,8 15|35 |22 | 80 | 30 |20.5| 50 | 102 | 70 M8X8 | M10X14| 1/4” | 21 | 29
115 | FO7-F10 | 22 | 477 (137 |64 | 73 | 1624 | 30 |192,4 22| 49 | 32 |80/130| 30 | 24 | 50 | 102 | 70 | M8X12 |M10X15| 1/4" | 32 | 44
125 | FO7-F10 | 22 | 537 |148 |68 | 80 | 1744 | 30 |204,4 22|49 | 32 |80/130| 30 | 24 | 61 | 102 | 70 | M8X12 |M10X15 | 1/4"| 32 | 44
140 | F10-F12 | 27 | 610 | 164 |76.5/87.5| 197 30 227 | 24|49 | 35 (80/130| 30 | 29 | 71 | 125|102 | M10X15 |M12X18 | 1/4" | 32 | 44
160 | F10-F12 | 27 | 644 |186 | 87 | 99 | 221 30 251 | 30| 57 | 40 |80/130| 30 | 32 | 80 | 125 | 102 | M10X14 |M12X17 | 1/4” | 40 | 60

TEAEIZ R o RIEIESE A E XA - The dimension of the adjustment screws change according to the angle of rotation needed.

18_ VallBla

Bonomn
GROUP



BARFIMIAEMIITRR T
STAINLESS STEEL ACTUATOR DIMENSIONS SERIES 84

i

n° 4-8 ¥, M5
n° 4-8 holes M5
i ";WH“‘W »';7, TS
I
TP 1\‘
pUdiNgayidios] PR ka2
@) CCW rotation (\? >/ CW rotation
E{TES T
MOD. DRiLLNG |CH) A | B | C | D |E|F|G|H O /GK L M|N] O | P|Q| R S |eom| YU |9V
1SO 5211

52 F03-F05 11 | 141 71 | 30 | 41 |855| 20 (1055 10 | 21 | 12 | 80 | 30 | 12 |26,5| 50 | 36 | M5X7,5 | M6X9 | 1/8" |34,5| 22

63 F05-FO7 14 | 164 (805|355 45 | 97 | 20 | 117 | 11 | 25 | 15 | 80 | 30 | 16 |27,5| 70 | 50 | M6X8 | M8X12 | 1/8" |34,5| 22

75 F05-F07 17 1210 (94,5| 42 |52,5(1151| 20 1351 13 | 29 | 19 | 80 | 30 | 19 | 35 | 70 | 50 | M6X8 | M8X12 | 1/8" | 42 | 29

85 F05-F07 17 |240,5| 106 |47,5|58,5| 129 | 20 | 149 | 15 | 35 | 22 | 80 | 30 | 19 | 42 | 70 | 50 | M6X8 | M8X12 | 1/8" | 42 | 29

100 F07-F10 17 | 275|123 | 55 | 68 [143,8/ 20 |163,8/ 15 | 35 | 22 | 80 | 30 |[20,5|525(102 | 70 | M8X9 |M10X14 | 1/4" | 42 | 29

vawLsia




WEhAfT=R
DOUBLE ACTING ACTUATOR

iR
Top view

%

b 2pps

FHiE K&
° Closed position Open position Closed position
s
RN \% %
_—
—
N 90° 90° 0°
RS B £ HiE fe o0 e
Counterclockwise rotation Clockwise rotation Rotation

MEERTR, WalhiTeRaiBpaE a2 RISEE.
BRALSEUTER, REEXGFFENES:

1 BIREAERE .

2 RERREER IURERADR, FEIEN25-50%NZeHsE.

3ERIVBEE, EEBER (BANNNSEED) ZE—MEEHEFLHEE (1758
RFRIIEE) -

4 BRI EB A EENNAI TRES

% With reference to the above diagram it can be noted that the torque of a double acting
actuator remains constant through-out the complete operation.
The user can decide on which model to choose according to the specific requirements,
using the following guidelines:
1. define the maximum torque of the valve to automate;
2. to obtain a safety factor increase the torque value chosen by 25-50% (subject to the
type of valve and working conditions);
3. once the torque value suggested is obtained consult the torque chart (in relation to
the corresponding air pressure) to find a torque value exact or similar to (but not lower
than) the one obtained;
4. once the torque value is determined move horizontally to the column “model” to find
the suitable actuator model.

BT
SPRING RETEURN ACTUATOR
FRE
Top view

L

FAIE
Open position

* XfiriE

Closed position

° NP MMD
Wiz K&
EE. ° Closed position —
| o | . | ope | a0° | £ | o | e
o e WRTE R o o e IS EhEdE B e BEEE
Counterclockwise rotation Clockwise rotation Rotation

W EEFTR, BTRBEE R TERFEENMERAN . REMTHEENE
R, S=SEiTER SR WERER, XAMESTIEES, FEIEENDBER
&, STRERMBREL, SERSERNENHITHE.

HATERAVBAE R IA T EAERE:
TR
MAD=38ER4% E 4RI/ TR1HAE
MAC=S§E 4% EARRT TR HIE
TiEde XA

MMC=3 AR EGRRT AT REHAE
MMD=3 &4 E 4RI T8RS

1R

2ARETEEERIURERTLR, H2I8N25-50%N%2HE,

AR VLR, EEHEER (BYNNSIRES ) S MEESERLHEE
(FERTIIJHEE ) , EE—PMMDEMACZ IERRIE.

4. HERBRBALEEY NAITERIES

With reference to the above diagram the torque of a spring return actuator is
not constant but decreasing. This is due to the action of the springs that when
compressed during air actuation counteract the piston movement and
accumulate energy which will be available in a decreasing way during the
rotation inversion. The torque given by the actuator is defined by four
fundamental values.

Opening rotation
MAD = Actuator torque with unfolded springs
MAC = Actuator torque with compressed springs.

Closing rotation
MMC = Torque with compressed springs.
MMD = Torque with unfolded springs
The user can decide on which model to choose according to the specific
requirements, using the following guidelines:
1. define the maximum torque of the valve to automate;
2. to obtain a safety factor increase the torque value chosen by 25-50% (subject
to the type of valve and working conditions);
3. once the torque value suggested is obtained consult the torque chart (in
relation to the corresponding air pressure) to find a torque value exact or similar
to (but not lower than) the one obtained, taking account of the lower value
between the MMD and MAC values;
4. once the torque value is determined move horizontally to the column “model”

Nz
Al

to find the actuator model required.



R
TECHNICAL DATA

s ERTIE)(RD) ~-WORKING TIME (SEC)

RY

S MODEL 32 52 | 63 | 75| 85 |100| 115 | 125 140 | 160 | 180|200 | 230 | 270 | 330

TYPE

CoUNTERaL CbKWISE ROTATION (ba) | CCW0.0310,07|0,11/0,18/0,36|0,38 0,60 0,80 | 1,13|1,43|1,99|3,08 4,15 6,16 5,50
5%8 e D N on CW 0.03/0,05/0,10/0,15/0,250,34| 0,54 0,70|0,94| 1,25 1,80 2,41|3,80 5,47 | 5,50
§§§ o e s RoTATION (sr) | CCW/| - 10,07/0,13/0,32/0,32|0,54 /0,92 1,20/ 1,64|2,27|3,08|3,58 6,20 8,97 | 6,40

L DaIE ROTATION (SR CW | - |0,07/0,13/0,22/0,30 0,48/0,75 0,94/ 1,25 1,60| 2,38/ 2,80 5,40 6,62 7,40
5{5 e s RoTATION (o) | CCW/ - 10,08/0,14/0,34/0,42 0,64 /1,11 187/295 303 - | - | -
ggé R D o on CW | - [0,06/0,12/0,25/0,39/0,62/1,08 1,13/2,03/229 - | - | -

W ETERRIE)IZAR6 Bar SiRES] — Approximative times obtained at the pressure of 6 bar without valve.

82-83%5IEE (KG) - WEIGHT CHART (KG) SERIES 82-83

RY
ESid MODEL 32 | 52 | 63 | 75 | 85 | 100 | 115 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TYPE
DA 90° 049|112 11,66 | 2,78 | 3,90 | 5,50 | 8,85 10,80 16,30 | 21,75 29,00 37,00 |58,50| 82,67 | 168
SR 90° - 11,30 | 1,97 | 3,39 | 4,80 | 7,00 | 11,45 |14,08 | 21,80 |29,50 | 39,90 | 55,00 {71,00| 100,27 | 209
DA 180° - | 1,70 | 250 | 4,20 | 5,98 | 8,563 |13,65|17,35|25,00{31,20 | - - - - -

BARTIAFE NN TEEEE (KG)- STAINLESS STEEL ACTUATOR WEIGHT CHART (KG) SERIES 84

R
A MODEL 52 63 75 85 100
TYPE
DA 90° 2,26 313 4,96 75 10,2
SR 90° 2,44 3,44 5,57 8,35 11,73
582 - ACTUATOR AIR CONSUMPTION CHART e
RY
s MODEL 32 | 52 63| 75|85 (100|115 | 125 | 140 | 160 | 180 | 200 | 230 | 270 | 330
TYPE
L o |EEEREERDASR)
% 3 |COUNTERCLOCKWISE ROTATION  |CCW|0.04| 0.10 | 019 |0.36| 0.510.79 | 1.29 | 1.63 | 2.26| 3.61 4,63 | 5.70[10,68 15,0 | 25,5
&5 |(DASR)
W N
Wi [
85 | ook ee A TATION (0A) CW 0.03]0.130.23/0.44 064 |1.00 | 1.71 | 2.21 | 316 5,02| 6,60 [10,55115,05) 17.8 | 44,2
o |FRIETIEEER (DA)
o € |COUNTERCLOCKWISE ROTATION |CCW| - |07 |0.33|0.60|0.901.37 | 213 |2.90|490|5.40| - | - | - | - | -
w S |(DA)
o N
6 | IeEmER DA cw!| - 101610.29]0.56|0.83]132(225/300/390(632] - | - | - | - | -
O | CLOCKWISE ROTATION (DA) )

AT ERENIMINAIREIR TIFEDRLUEBOSHERZRTAE. BHER, REENENIIE—D T2 RIIEHIFIE.

To obtain the air consumption in NI/min multiply the value in the chart for the correct parameters. That is to say for the supplied absolute pressure and the number of strokes in a minute.

YalBia




1B
TORQUE OUTPUT

W17 $%E “DA” - TORQUE OUTPUT DOUBLE ACTING ACTUATOR “DA” (Nm)

SiBIEH (bar) - AIR SUPPLY PRESSURE (bar)
TYPE 2,5 3 4 5 55 6 7 8
WaNH4TEHSE (Nm) - TORQUE OUTPUT DOUBLE ACTING ACTUATOR (Nm)

DA 32 3,5 472 6 7,5 8 9 10 1,5
DA 5?7 9 g 14,5 18,5 20 22 26 30
DA 63 15,5 19 26 33 36 39,5 46,5 53,5
DA 75 29 35 475 60 66 72 84,5 97
DA 85 415 50,5 68,5 87 96 105 123 141
DA 100 66 80 108 136 150 164,5 193 221
DA 115 109 132 179 226 249 272 319 366
DA 125 143,5 174 235 297 327 358 419 481
DA 140 205 246 328 410 451 493 575 657
DA 160 287 344 458 573 630 688 802 N7
DA 180 395 474 632 789 868 947 1105 1263
DA 200 532 638 851 1063 170 1276 1489 1701
DA 230 879 1055 1406 1758 1934 2109 2461 2812
DA 270 1292 1550 2067 2584 2842 3101 3617 4134
DA 330 2299 2759 3679 4599 5059 5519 6438 7358

B TE83 84 “SR - SPRING SETS FOR SPRING RETURN ACTUATOR “SR”

BJFAM MOD. 52 £ MOD. 140
VALID FROM MOD. 52 TO MOD. 140

AIAM MOD. 160 £ MOD. 200
VALID FROM MOD. 160 TO MOD. 200

AJFM MOD. 230 ) MOD. 330
VALID FROM MOD. 230 TO MOD. 330

Gy 45|
SPRING SETS

G 45|
SPRING SETS

Gy 2|
SPRING SETS

FrfE -~ STANDARD SET 05

SET | xrema SPRING INTERNAL SPRING
01 1 1
02 2 -
03 1 2
04 2 1
05 2 2

T - STANDARD SET 06

SET HhEmsEEs chigjsE PIER3EEE
EXTERNAL SPRING | CENTRAL SPRING | INTERNAL SPRING

01 - 2

02 2 -

03 1 2

04 2 - 2

05 2 2

06 2 2 2

IV (N={[D]

22

TekaES
PRETENSIONED SPRING

SET

N° SEENE
N° OF SPRINGS FOR EACH SIDE

01

2/3

02

313

03

3/4

MOD.230

04

4/4

05

4/5

06

5/5

07

5/6

08

6/6

MOD.270 e 330




PR TEREE
TORQUE OUTPUT SPRING RETURN ACTUATORS

e SEI{EEA(bar) (bar) - AIR SUPPLY PRESSURE (bar)
3
el s 1 s | 4 ] s ] ss | e | 1 | s
MOD SET | 10ROUE (N —
QIUE (i) SBEHTRIAIE(Nm) - TORQUE OUTPUT SPRING RETURN ACTUATORS (Nm)
0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90° 0° 90°
MMD | MMC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC | MAD | MAC
01 3.6 49 4.5 1.6 6.4 35 | 102 | 74
02 4.8 6.7 5.2 1.7 9.0 56 | 128 | 94
SR52 03 5.2 75 8.6 4.8 12.4 8.6 143 | 105 | 162 | 124
04 6.5 9.3 7.3 3.0 112 | 68 | 131 87 | 150 | 10.6 | 188 | 145
05 8.1 11.9 9.5 43 114 | 62 | 133 [ 81 171 | 119 | 209 | 157
01 5.0 9.6 8.6 26 | 120 | 60 | 189 | 128
02 66 | 123 105 | 32 | 174 | 101 | 242 | 17.0
SR63 03 80 | 145 159 | 79 | 228 | 148 | 262 | 182 | 296 | 21.7
04 96 | 17.2 144 | 52 | 212 [ 120 | 246 | 155 | 28.1 | 189 | 349 | 258
05 125 | 2241 182 | 71 217 | 106 | 251 | 140 | 319 | 209 | 388 | 27.7
01 101 | 195 | 158 | 39 | 220 | 101 | 344 | 225
02 133 | 256 188 | 40 | 312 | 164 | 435 | 287
SR75 03 15.1 | 28.2 294 | 138 | 418 | 26.1 | 48.0 | 323 | 541 | 385
04 18.3 | 34.3 262 | 77 | 386 | 200 | 448 | 262 | 509 | 324 | 633 | 448
05 232 | 43.0 336 | 11.3 | 398 | 175 | 46.0 | 237 | 583 | 361 | 70.7 | 484
01 161 | 273 | 222 | 7.6 | 313 | 16.6 | 495 | 348
02 19.9 | 337 276 | 103 | 457 | 284 | 63.9 | 46.6
SR85 03 243 | 40.8 413 | 213 | 594 | 395 | 685 | 486 | 776 | 57.6
04 28.1 | 47.1 375 | 150 | 557 | 331 | 64.8 | 422 | 738 | 51.3 | 920 | 69.4
05 36.3 | 60.6 475 | 196 | 56.6 | 287 | 656 | 37.8 | 83.8 | 559 | 101.9 | 74.1
01 246 | 446 | 360 | 101 | 502 | 242 | 784 | 525
02 326 | 589 422 | 99 | 705 | 381 | 98.7 | 66.4
SR100 03 359 | 637 671 | 333 | 954 | 61.6 | 109.5 | 75.7 | 1236 | 89.9
04 439 | 780 591 | 19.0 | 874 | 473 | 101.5 | 61.4 | 1157 | 755 | 143.9 | 103.8
05 552 | 97.2 761 | 281 | 90.2 | 423 [ 1043 | 56.4 | 1326 | 84.7 | 160.8 | 1129
01 410 | 744 | 613 | 184 | 847 | 418 | 131.4 | 885
02 50.7 | 94.4 749 | 218 | 1216 | 685 | 168.3 | 115.2
SR115 03 60.8 | 108.1 111.6 | 54.7 | 158.3 | 101.5 | 181.6 | 124.8 | 205.0 | 148.2
04 706 | 128.1 101.8 | 34.8 | 1485 | 815 | 171.9 | 104.9 | 1952 | 128.2 | 2419 | 174.9
05 90.4 | 161.8 128.7 | 47.8 [ 1520 | 711 [ 1754 | 945 | 222.1 | 141.2 | 268.8 | 187.9
01 531 | 991 | 802 | 21.2 | 1109 | 51.9 [ 1722 [ 1132
02 63.3 | 1175 100.7 | 335 | 162.1 | 94.8 | 223.4 | 156.1
SR125 03 81.1 | 148.4 144.2 | 63.9 | 2055 | 125.2 | 236.2 | 155.9 | 266.8 | 186.5
04 91.3 | 166.9 134.1 | 455 | 1954 | 106.8 | 226.1 | 137.5 | 256.7 | 168.1 | 318.0 | 229.4
05 | 119.2 | 216.2 167.4 | 57.5 | 1981 | 881 | 228.7 | 118.8 | 290.1 | 180.1 | 351.4 | 241.4
01 82 152 119 36 160 77 242 | 159
02 92 172 149 56 231 138 | 313 [ 220
SR140 03 117 | 221 205 86 287 | 168 | 328 | 209 | 369 | 250
04 128 | 240 193 64 275 | 146 | 316 | 187 | 358 | 229 | 440 | 311
05 164 | 308 238 72 279 114 | 320 | 155 | 402 | 237 | 484 | 319
01 83 131 199 | 148 | 256 | 205
02 119 188 218 | 145 | 332 | 259
SR160 03 143 | 225 193 105 | 307 | 219 | 422 | 334
04 185 | 292 262 | 148 | 377 | 263 | 434 | 320
05 202 | 319 358 | 235 | 415 | 292 | 473 | 350
06 268 | 423 346 | 181 404 | 239 | 518 | 353 | 633 | 468
01 102 | 168 | 287 | 217 | 366 | 296
02 160 | 252 304 | 206 | 462 | 364
SR180 03 182 | 294 281 162 | 439 | 320 | 596 | 477
04 262 | 414 354 | 196 | 511 353 | 590 | 432
05 262 | 420 511 343 | 590 | 422 | 669 | 501
06 364 | 582 482 | 254 | 561 333 | 719 | 491 877 | 649
01 169 | 251 353 | 269 | 459 | 375
02 237 | 353 381 262 | 594 | 475
03 288 | 428 330 | 188 | 543 | 401 755 | 613
SR200 04 338 | 522 483 | 295 | 695 | 507 | 802 | 614
05 406 | 604 626 | 425 | 733 | 532 | 839 | 638
06 507 | 773 622 | 352 | 728 | 458 | 941 671 | 1153 | 883
01 389 | 666 | 466 | 172 | 642 | 348 | 993 | 699
02 466 | 799 560 | 206 | oM 557
SR230 03 544 | 933 828 | 416 | 1180 | 768
04 622 | 1066 746 | 274 | 1098 | 626 | 1274 | 802
05 700 | 1199 663 | 133 | 1015 | 485 | 1191 | 661 | 1366 | 836
06 777 | 1332 933 | 343 | 1109 | 519 | 1284 | 694 | 1636 | 1046 | 1987 | 1397
01 506 | 791 780 | 490 | 1044 | 754 | 1572 | 1282
02 607 | 949 | 672 | 324 | 936 | 588 | 1464 | 1116
03 708 | 1107 | 564 | 158 | 828 | 422 | 1356 | 950 | 1884 | 1478
SR270 04 810 | 1265 721 257 | 1249 | 785 | 1777 | 1313 | 2041 | 1577
05 911 [ 1423 1141 | 619 | 1669 | 1147 | 1933 | 1411 | 2197 | 1675
06 | 1012 | 1581 1033 | 453 | 1561 | 981 | 1825 | 1245 | 2089 | 1509
07 1113 | 1740 925 | 287 | 1453 | 815 | 1717 | 1079 | 1981 | 1343 | 2508 | 1870
08 | 1214 | 1898 817 | 121 | 1345 | 649 | 1609 | 913 | 1873 | 1177 | 2400 | 1704 | 2928 | 2232
01 884 | 1372 | 1361 | 842 | 1821 | 1302 | 2741 | 2222
02 | 1060 | 1647 | 1173 | 550 | 1633 | 1010 | 2553 | 1930
03 | 1237 | 1921 | 985 | 259 | 1445 | 719 | 2365 | 1639 | 3285 | 2559
SR330 04 | 1414 | 2196 1258 | 427 | 2178 | 1347 | 3098 | 2267 | 3558 | 2727
05 | 1591 | 2470 1990 | 1056 | 2910 | 1976 | 3370 | 2436 | 3830 | 2896
06 | 1767 | 2745 1802 | 764 | 2722 | 1684 | 3182 | 2144 | 3642 | 2604
07 | 1944 | 3019 1615 | 473 | 2535 | 1393 | 2995 | 1853 | 3455 | 2313 | 4374 | 3232
08 | 2121 | 3294 2347 | 1101 | 2807 | 1561 | 3267 | 2021 | 4186 | 2940 | 5106 | 3860

Bonomn

YalBia

GROUP




455k - SPECIAL VERSION

Sim: JEZREAIA150T
High temperature: to withstand temperatures up to 150° C.

®E: TRFETOCHRURIEINE.,
Low temperature: for applications that require the use down to -40° C.

303 AR
With 303 stainless steel pinion.

IR BIENTER R N REH TIOER, BRETERMYE, FEEEBESZIIIMME T I,
EFEER T EAMEmI TN FrEIX S RIS ST o

Nickel plated: process developed for the actuator protection in harsh environments through the application of
an uniform coating over the entire surface, in order to give the actuator a higher protection against corrosion.
Suitable also in the pharmaceutical and food industries and in all those sectors where alkaline solutions and
cleaning agents are used.

PTFE RE: BIIXHITRENEREHTERPTFE #R, AREREEWRER, EHRITRNLIEEERMEEFIARHLL
NERMNSTER . BEEBR 2t AR E b T,

With PTFE coating: coating applied by spray technique over the entire actuator surface and cured in the oven.
It provides excellent corrosion protection to marine environments, environments with high temperatures and
ensures great antistick properties; it is also used in a wide range of industrial applications.

24_ VallBla




PNEUMATIC ACTUATORS

82 0-90° - ACTUATOR SERIES 82 0°-90°

“DA” - DOUBLE ACTING PNEUMATIC ACTUATOR “DA”

MODELLO - MODEL DA 32 DA 52 DA 63 DA75 DA85 DA100 DA115 DA125 DA140 DA160 DA180 DA200 DA230 DA270 DA330

CODICE - CODE 82DA0007 82DA0010 82DA0012 82DA0075 82DA0014 82DA0018 82DA0070 82DA0019 82DA0020 82DA0079 82DA0080 82DA0021 82DA0023 82DA0077 82DA0033

- SPRING RETURN PNEUMATIC ACTUATOR “SR”

MODELLO - MODEL SR52 SR63 SR75 SR8 SR100 SR115 SR125 SR140 SR160 SR180 SR200 SR230 SR270 SR330
CODICE - CODE 82SR0010 82SR0012 82SR0075 82SR0014 82SR0018 82SR0070 82SR0019 82SR0020 B2SR0079 82SR0080 B82SR0021 82SR0023 B82SR0077 82SR0033
83 0-180° - ACTUATOR SERIES 83 0°- 180°

VERSIONE ROTAZIONE 0° - 180° - VERSION 0° - 180°

MODELLO - MODEL DA52  DA63 DA75 DA85 DA100 DA115 DA125 DA140 DA160
CODICE - CODE 83DA0010 83DA0012 83DA0075 83DA0014 83DA0018 83DA0070 83DA0019 83DA0020 83DA0079
84 0-90° - STAINLESS STEEL A351 CF8M ACTUATOR SERIES 84 0°-90°

- DOUBLE ACTING PNEUMATIC ACTUATOR “DA”
MODELLO - MODEL DA 52 DA 63 DA75 DA85 DA100

CODICE - CODE 84DA0010 84DA0012 84DA0075 84DA0014 84DA0018

- SPRING RETURN PNEUMATIC ACTUATOR “SR”

MODELLO - MODEL SR52 SR63 SR75 SR85 SR100

CODICE - CODE 84SR0010 84SR0012 84SR0075 84SR0014 84SR0018

WV |Nc{D]




ATTUATORI PNEUMATICI
PNEUMATIC ACTUATORS

- NICKEL PLATED ACTUATOR

ATTUATORE NICHELATO -NICKEL PLATED ACTUATOR *

MODELLO - MODEL 32 52 63 75 85 100 115 125 140 160 180 200 230 270 330

CODICE - CODE DA 82DA1007 82DA1010 82DA1012 82DA1075 82DA1014 82DA1018 82DA1070 82DA1019 82DA1020 82DA1079 82DA1080 82DA1021 82DA1023 82DA1077 82DA1033

CODICE - CODE SR - 82SR1010 82SR1012 82SR1075 82SR1014 82SR1018 82SR1070 82SR1019 82SR1020 82SR1079 82SR1080 82SR1021 82SR1023 82SR1077 82SR1033

* Il trattamento comprende tappi e cilindro. Per ulteriori varianti consultare I'ufficio commerciale - The treatment includes caps and cylinder. For any other execution please contact our sales department.

P.T.F.E - P.T.F.E COATED ACTUATOR

ATTUATORE VERNICIATO P.T.F.E - P.T.F.E COATED ACTUATOR *

MODELLO - MODEL 32 52 63 75 85 100 115 125 140 160 180 200 230 270 330

CODICE - CODE DA 82DAB607 82DAB610 82DAB612 82DAB675 82DAB614 82DAB618 82DAB670 82DAB619 82DAB620 82DAB679 82DAB680 82DAB621 82DAB623 82DAB677 82DAB633

CODICE - CODE SR - 82SRB610 82SRB612 82SRB675 82SRB614 82SRB618 82SRB670 82SRB619 82SRB620 82SRB679 82SRB680 82SRB621 82SRB623 82SRB677 82SRB633

* Il trattamento comprende tappi e cilindro. Per ulteriori varianti consultare I'ufficio commerciale - The treatment includes caps and cylinder. For any other execution please contact our sales department.

== To be added to the pneumatic actuator base price or valve + actuator base price.

32 52 63 75 85 100 115 125 140 160 180 200 230 270 330

CODICE - CODE DA 82DA0407 82DA0410 82DA0412 82DA0475 82DA0414 82DA0418 82DA0470 82DA0419 82DA0420 82DA0479 82DA0480 82DA0421 82DA0423 82DA0477 82DA0433
CODICE - CODE SR 82SR0410 82SR0412 82SR0475 82SR0414 82SR0418 82SR0470 82SR0419 82SR0420 82SR0479 82SR0480 82SR0421 82SR0423 82SR0477 82SR0433

- 40
CODICE - CODE DA - 82DA1210 82DA1212 82DA1275 82DA1214 82DA1218 82DA1270 82DA1219 82DA1220 82DA1279 82DA1280 82DA1221 82DA1223 82DA1277 82DA1233
CODICE - CODE SR - 82SR1210 82SR1212 82SR1275 82SR1214 82SR1218 82SR1270 82SR1219 82SR1220 82SR1279 82SR1280 82SR1221 82SR1223 82SR1277 82SR1233
303
CODICE - CODE DA 82DA0907 82DA0910 82DA0912 82DA0975 82DA0914 82DA0918 82DA0970 82DA0919 82DA0920 82DA0979 82DA0980 82DA0921 82DA0923 82DA0977 82DA0933
CODICE - CODE SR - 82SR0910 82SR0912 82SR0975 82SR0914 82SR0918 82SR0970 82SR0919 82SR0920 82SR0979 82SR0980 82SR0921 82SR0923 82SR0977 82SR0933
IS0 5211 FO4
CODICE - CODE DA - 82DA0610 82DA0612 - - - - - - - - - - -
CODICE - CODE SR - 82SR0610 82SR0612 - - - - - - - - - - -

Bonomi

ValBila

GROUP




NOTE

25

U
m
-
U
>




PeAIIFER)L

WE ARE HERE
via Marconi :
E via Monsuello
\©
v%“e'\
q\?‘“\ & via Industriale
a
ey vaLrPrRes 5
o / 3
g Marcheno 4‘0
&
) Gardone @ @0
R VT \
\ Lumezzane bm
o= ‘
Sarezzo (D’
\ Villa Carcina . 0
MILANO N\ :
° RUBINETTERIE >
—-— BRESCIANE &
TRap, A4 Gu‘ssag° / o)
I0VAT0 I g B " 0@
\ . =
¢ Desenzano
[BRESCIA CENTRO] . . Sttt
DESENZ AUTOSTRAp, Aq
\
CREMONA

VENEZIA

YalBia







BONOMI VALBIA S.r.l. 7 Download on

Via Industriale, 30 - 25065 Lumezzane S.S. (BS) ltalia ® iTunes
N. 45° 38’ 57.084” - E. 10° 15’ 35.172” o
Tel. +39 030 8969411 - Fax +39 030 8610014 :
www.valbia.it - E-mail valbia@bonomi.it N.174.10

HERFERNRSEEE, FIMRBESIEXSHINAE, BASITEN,
To ensure the quality and technical standards at the highest level, the manufacturer reserves the right to alter the specifications without notice.
This documentation supersedes and replaces all previous editions.



